[bookmark: _GoBack][image: ][image: ][image: ]
image1.png
N - Evaluati | D ining Function Soluti

Learning Targets - | can evaluate a function and determine function solutions.
L(x) =7 function notation-replaco 4= vead as

Evaluate the following functions: -? O‘G X"
1.) If f(x) = 4x — 3, then find f(-2). \[\(-Z): L{(-l) 3 -g-3 Cx,j)
_ _ value -

:j—"/% ?; D-f\;-{/\p. ¥urz<:3{’;'b?\ wl%)(:'z_ = '_// L“o?)-//)

2) Iff(x)=-2x+1,l::e:ﬁnd f(-3);F (-3)=-2C 2/ -3,17)
W X=-2 _@(_’5/: 6+(‘-7
3.) If f(x) = 2x? — 7, then find f(-1). 7{(:})_ 52 (_/)1 _ 7 (—/; ‘5)
= 20)-7

= 2‘—72—5
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For the following input/output table, determine which of the following ordered
pairs are solutions to the function f(x) = -2x + 3. Write YES or NO for each one.
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